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1. Write a C program to take input two polynomials and store the sum in third polynomial [5+5]

using Singly Circular Linked List with header nodes.

Finctude esidin AN
A aelucke 29Adlib h>

7t inelude ¢ math-\y
Sdyeeed [1._'\'\«{“(.,“,'.:‘“04

ind coedd Ly 2

Sdvued polype mMiad "‘*Am;i'-n'.:-

5

by
~dpecded shruet polynorial FeoLYMomMiAL:

foLNMOMIAL CYenitet)

rolyrlomiAL Ue-\ node :
fple-\mr‘kt,r Crat¥moratAal) malloc (size of Cotvaed palyn
) —omialy)-

—

it ('Cd‘-e yaode == AULL)
Frnif("\n rMermoly couldnd be allocaded ‘\1‘].

yed 'AJJﬂ')

Y
Yerun (gednoald

y,




PorymomiAL tnsetd—end CPoLYniomiaL heod int ¢
ol
( WA PLing Py ind ¢z)

PoLYMOMIAL nodedemp;
node - t‘(‘f(‘x'\((‘y"

nadt S coedf=c;
1‘1(\0‘1—5 LB &

node > Y=Y,

nodte 32 <= (&
nodelinks N
—{f NP = }\Lc‘\d —B‘I.Y\KJ}
wihile Cteraf = (;"KE’-"\(Qd]

otL

Jeraps tepap o links

¥

dempAlink -node:
node- link = head

yedtoan Chea d);

Y

?OWNOM(AL

{

wnput-polunosatal (potyMomIAL.
heod)

nk CiIPriPy, P2

pvink L\ Endel aaq 4o end the polynonialy)]

dovy Ciztyy i4d)

{

PYiaAL 0NN Enden the caefficieat =4 ¢ i)




dean b ook a6 O;

B (eTF T9% %)
b f "
Fn\.&,_ﬂl."'n od W .
) AT el Al )
.!-"L 1 r'_J'. L L
o b enhaly £ N

Kl g

[l A 5 ",
) f'[\.'\-'._:! g ofF Y* :'_.-

rnzo.uit“"'-n
soent A’ &4

evingF (W E n ken e

£onhus
Tlﬂrﬂ'fﬂﬁﬂfd e r__r z '.-“I'J
Seang CHFAT £E2

hE.l_",‘x.f.'l - im 3'2_1",-_*';1"'.(‘)!'\ f-_lr. eonch €y ) "Dll'[f'?_]';

vetqudn Chead),

ALy RbOrarAL hemd)

end dizghay e

Letp)

Ft‘:.LH”unmmL_
€ II"LL'!’.'I._C!:_":I

LI heeod =2 fnke =

. W 1) . ) e _II_ E_.r-.'.llll )
{ Byip MO0 polynet ial doesn '.S'k_\]l!

yvedos

'}
—l:e".l"\l"-f: Ilf'l?_-:t_c&—?ﬁ Ifﬂ_t;

febln e ke |’“¢11"—"'L = hea &)

¢




PYOAR (" AW B "'("“f""?f Pofo Ay deaag-s el
ety Aesafsy Araap-ey ;

'{4' I\-'\. ‘ . '1"’|"\'1_ "'-] (l‘ [y L' "
Q
i . i
vyind Lo R & 2 ",
)
PoLEAtom (AL Susn- po\gresn tal CpoLymomina L.
(& Y AN LT v
headk 1y polyatoriA L heod & [ PoLYROMIAL

r. head 2)

\F'ol\'(\mwu AL PR,
nd o elhyen ¥ gzl '/Jv,,.[‘fp,?" LocYs
Ple head t=5 linky
wihite ¢ PLEE head L)

J: Cl= pPL-= coedds
TI=P3),
Yi = PL= s
zZiz P\ 2,
P2 - head 2 dlink,,
-F\C&(J'_o')

wihile Cp2te head 2)

{




¢ 1L: P20,
Ko=P2-5Y%,
\3’2: p2aY,
2R D2

W (fxizax2 ) gslyi==y2) £8C 2122 22)

- Lead?: Insetd_end Chead 3, Codla o vy, ;?(])
P2 S Coeftz0)

Y=t

b*ﬂ’(:..',—_')

elu”:'?l—) links;
v

ig Hlagz o)
head 37 inse”‘*(p‘cg Ci\f.c:,(f\?’CllX\thrZ’.\,}
3 ML - | '

PI-3 Pl tinks |

Y

pe:headz-3links

wehile €212 head 4.)

{ W Cpzm Coekfl=0)

ProXp padY P2 2) ;
} P = P23 1inkss




n
j.
il paodnd \

{ A head & head 3 5

Po LYAtDMLAL hoeod
ool 1= {‘(Cl‘l"'.(( jr)l
- \ ead\’
head A\ ink = head\’,
= cyentel))

9
14 ’fl = .
e - head L)

readt S tink

head 3z cyeatel)
bead 33 linkis head 3 | 2
P\-',,'\,{.L(:“\("n Ender the Liyst Pnh(nm\mqlz J}
head | = INPLLT -
Yoy ¢ hea dan) 5
c\n\a Ended ahe
pud — Polynomi al (head 2,

, (:mh, r~.('wu'a\ (head ]}

Va5 T
o tetonch polynommal )
o " |
()Y\\""\ T
heod &= '
display Chead 15
h( o, d S i\"\Qkk'\._ “9[‘)1'\( "

o\ The sum of

N“*CLK Che(\o\ lzhtf\(‘l:'.\ta(h’)\‘

A0 polgnanmtals "),

prinak ¢
Adisplay (head 3)y
e AuAn (Y,
¥
g

2. a) What is a tree? Write recursive C functions to traverse the tree in Pre-order, In-order
and Post-order.
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2b. Construct an expression tree for the following infix expression
e a*(b+c*d)/e
(at+b*c)+((d*e+f)*g)
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3a Construct a Binary Search Tree for the following input. 14,5,6,2,18,20,16,-1,21,23,29.

/Also traverse the BST using in-order, pre-order and post-order traversal.
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4. What is hashing? Given a File of N employee records with a set K of Keys (4-digit)
which uniquely determine the records in file F. Assume that file F is maintained in
memory by a Hash Table (HT) of m memory locations with L as the set of memory
addresses (2-digit) of locations in HT. Let thekeys in K and addresses in L are Integers.
Design and develop a Program in C that uses Hash function H: K —L as H(K)=K mod m
(remainder method), and implement hashing technique to map a given key K to the
address space L. Resolve the collision (if any) using linear probing.
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5. Write an algorithm for radix sort. Apply radix sort and show the various passes to sort
the array W where W={132,235,456,758,659,900,200,37,26,136}
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6. Explain the insert_end(), delete_front() and display() operations on Circular Doubly

Linked List.
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7a.  Write an algorithm for BFS/DFS. Write the adjacency matrix and also print the nodes

reachable(step by step) from the starting vertex 2 using BFS and DFS for the graph given

below:
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8. What do you understand by the term file organization? Briefly summarize any 3 widely
used file organization techniques.
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